0.05]

-0.05

|
I
s

|
e
=
(5}

o
TIT [T T [ TI T[T T[T I T I T[rrrT

RatloI
0
;........_

<op/p. > (%)

<3 @> (rad)
o
=
(6)]

x107°

(| B [

o
n

) I PR L 1 PO | Y
...... L. i *. = 11474
-2 -1

0 1 2 3
TP n (PCA to beamline)

< d cot(B) >
o
[
[6)]

o
TIT [T T [ TI [T T T[T I [T T[rrrT

..........

..........

-0.2

ey

Ratio

0.5

2 3

—=— DQM_TT _original
—— DQM_TT_newscoreonlyINIT

0 1 2 3
TP n (PCA to beamline)

0o 1 2 3
TP n (PCA to beamline)

<dd,

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


